is a silicon chip which
contains entire electronic circuit on a

very amall area.

(A) Turing Machine . s &)
b o=
(B) Pascaline - Els"‘t-‘»é

(C) Integrated Circuit
(D) Transistor

(E) Not attempted

Which of the following is the largest
Saltwater lake in the world ?

(A) Chilka (B) Caspian Sea
(C) Lake Victoria (D) Michigan
(E) Not attempted

The average resistance force that must
act on a 5kg mass to reduce its speed
from 65cm/s to 15cm/s in 0.2s is

(B) 25N
(D) 12.5N

(A) 100N
(C) SON
(E) Not attempted

If the seventh day of a month is three
days earlier than Friday, what day
will it be on the nineteenth day of the

month ?

(A) Sunday

(B) Monday

(C) Wednesday
(D) Friday

(E) Not attempted

e fufersfa fem B Fare o
aga @ B2 4wt sevwifn A
A 2

(A) ZgfoT wfi
(B) TTEREATE
ey §ies ufde
(D) gift
(E) 3rsafaa
5. Freferfaa i & F-wh g @ wEE ==
@R o R 7
a) fae B) HieraT TR
() it shm (D) FfT=
(E) 3TvaTéa
. geEA
o ¥ a0 41/ 3 152
o 3 FIQ 38 T ST
(A) 100N (B) 25N
(C) SON (D) 12.5N
(E) Tvantad
aﬁﬁmq@ﬁmwﬁﬁﬁwam"
o @t 2, At T & vl fo A
RAGT? (477 e
LAAT Team :E
(B) EMER ]
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5. This protected area contains one of
the last surviving remnants of the
Delhi Ridge hill range

(A) Bhindawas Wildlife Sanctuary
(B) Nahar Wildlife Sanctuary

(C) Asola-Bhatti Wildlife Sanctuary
(D) Abubshahar Wildlife Sanctuary
(E) Not attempted

6. Consider the following statements and
choose the right option given below.

1. Comptroller and Auditor General
of India (CAG) is responsible for
compilation and preparation of
the accounts of the Government
of Haryana.

2. This function is discharged through
the office of the Accountant General
(A & E) Haryana.

(A) Only the statement 1 is correct
(B) Only the statement 2 is correct

(C) Both the statements 1 and 2 are
in-correct

(D) Both the statements 1 and 2 are
correct

(E) Not attempted

7. In which year was the South Asian
Association for Regional Co-operation

(SAARC) established ?
(A) 1980 %{E‘
E=e4E=

(B) 1990
(C) 1985
(D) 1998
(E) Not attempted

Vo e

R I R

CG - CGL24

5. 39 Gif¥a & i fegf Srem wardl Aofi
aifom Sfifea srasm 2
&) Tz a=rfla snmaEmed
(B) & I=1sia 3NTARTd
5 (C) ardien-vE asia AT
S (D) s T s
(E) 3SR

6. Fm=fafaa wuEt w fmr =t 3t fi= g
T e | |

1. WG % T we werea 9liers
(CAG) BTN TR & @1 & Hehe
3Rt & o fomeR 2 |

2. I8 S U@ (A & E) B@mm %
Fratea & qread | fomar srar 2

(A) Fa FYF 1 T B

(B) I YA 2 GE B

(C) 31 YA 1 3R 2 7Teld &
(D) 2Hi HuT 1 3T 2 T &
(E) 3rvarfa

7. <t ufir &t ged EeA (SAARC)
v form ad g oft ¢

(A) 1980 “»;‘E-.__
(B) 1990
C) 1985
(D) 1998
(E) Twanfaa
B
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8. The earth will be very close to the sun on
(A) 21 June (B) 4™ July
(C) 23 September (D) 3" January
(E) Not attempted

9. Which of the following is another

name of Platelets ?

(A) Thrombocytes

(B) Erythrocytes gég"
(C) Leucocytes EAE
(D) None of the above

(E) Not attempted
10. If U is the universal set with 100

elements, A and B are two sets such
that n(A) = 50, n(B) = 60, n(AnB) = 20

then n(A'nB’) = ):.
(A) 40 (B) 20 g;;,':j,
(C) 90 (D) 10

(E) Not attempted

11. The mean of first six multiples of 4 is
(A) 13.5
(B) 14.5
(C) 14
(D) 16
(E) Not attempted

12. Who is the Chairman of the 16"
Finance Commission ?
(A) Nirmala Sitharaman
(B) Dr. Arvind Panagariya
(C) N. K. Singh
(D) None of the above
(E) Not attempted

10.

12.

8. T o gt 5 e e w1
- (A) 215 (8]43?'“%
() 23 fm D) 3 T

af U 100 A e Th AR
g 21 A 3 B 3 W@ wg=a @ 75

n(A) = 50, n(B) = 60, n(AnB) = 20
n(A’nB’) =

(A) 40 (B) 20
(C) 90 (D) 10
(E)

11. 4% VoW 6 TUISI 0 AT 12 7

gy 3 nfre 22y
2

(A) 13.5
(B) 14.5
w4€) 14

(D) 16
(E) 3Tvartaa

16 9 fod 3w & sma S & ?

(C) @. %. fi
(D) I & F 18 78
(E) 3T9Tiéa
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13. The inscription which gives details
about the expeditions of Kharvela the
king of Orissa is
(A) Aihole inscription
(B) Allahabad pillar inscription
(C) Hatigumpha cave inscription
(D) Halmidi inseription
(E) Not attempted

Presenting someone else’s idea or

4.

. work as one’s own idea or work is
called
(A) Theft (B) Copyright
(C) Copy (D) Plagiarism
(E) Not attempted

15. What is the term used to describe the
significant increase in agricultural
growth ?
(A) White Revolution
(B) Silver Revolution
(C) Green Revolution
(D) Blue Revolution
(E) Not attempted

16. district of Haryana has
highest road density.
(A) Panchkula  (B) F aridabad
(C) Jind (D) Ambala
(E) Not attempted

17. Which of the following day is

celebrated as National Endangered

5

Species Day ?

(A) 2™ Friday of June

(B) 3 Friday of May

(C) 3¢ Monday of March
(D) 27 Monday of June
(E) Not attempted

B

13.

15.

16.

17.

CcG - CGL<&™

agaqﬁ?f@ﬁmﬁa'sﬁmﬂﬁwmm‘-ﬁ
Sy 3 it i fecor fean T 2

./(Afﬁﬁrﬁaaﬁé@

(B) mmamaaﬁr@i@ <
() TefieH e A
(D)gaﬁéﬁmﬁ?@l@ X

(E)
rgﬁﬁﬁmﬁaﬁﬁﬁm
%ﬁqﬁgww:{ﬁm
(A) =d shifd

(B) Toid 3Hifdl
ey Bfa wifd

(D) Heft wifd

(E) ST

sﬂ'qwn%_____ﬁﬁﬁaaﬁﬁﬂsﬂ?

e 2l
(A) T (B) UETETS
©) frg B AT "

(E) ST .

Frafafag @ FA-a1 fa T g
wefar feam % 9 8 @ I @ ?

(A) ST T G THAR

(B) WS 1 TfET TR

(C) wrd &1 dET FIHaAR

D) ST HT g0 HHER

(E) 5T

qiz'ﬂauhaﬂﬁ
fopa AT @ 7

i
-

G Scanned with OKEN Scanner



L
- 1

<

18,

19.

20.

21.

If tan 0 =+/3, then sec 8 =

g
A 73
(B) 2
© ¥3
: f these %ﬁ’%
(D) None of the Eﬁf&l

(E) Not attempted

The general solution of cotf + tanf = 2 is
(A) e=%+[-1)"ﬂ8
(B) 9=%+(-1]"%
(©) G:%ﬂ—l}“%

(D) 6=nn+(-1)" %
(E) Not attempted

Which of the following Articles of the
Indian Constitution deals with the
Finance Commission ?

(A) Article 280

(B) Article 128

(C) Article 112

(D) None of the above

(E) Not attempted

Which of the following is the capital
city of Jharkhand ?

(A) Bhubaneswar

(B) Aizawl

(C) Shillong

(D) Ranchi

(E) Not attempted

= B

24
El£4[E

CG —_ L\ TAias T

18. afg tan 0=J§,'cﬁsece=

19.
@) 6="-+C1" 74
@) 0= +C-1"%
(C) 9=32’5+(—1)"%

(D) 0=nn+(-1""
Bl (E) 3rsErfEd

20. A dfum % Frefifea § @ HHE-A
e faa I & wafa @ ?
L] 3TT=eg 280
(B) 37T=8¢ 128
(C) 3q=Dg 112
(D) STFa § & HIE TE
(E) AT

frafafas § & S9-a1 InEs € geud
??

(A) MR

(B) ST

(©) Trem
D) T

(E) T9ita

21.
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22. To provide relief to the flood victims of
Kedarnath, the operation launched by
the Indian Army in 2013 is known as
(A) Operation Surya Hope
(B) Operation Vijay
(C) Operation Polo
(D) Operation Holy Land
(E) Not attempted

23. identity operator evaluates

True if the variables on either side of
the operator point towards the same
memory location and False otherwise.
(A) in

(C) is

(E) Not attempted

(B) not in
(D) is not

24. ‘NDMA'’ stands for

(A) New Disaster Management Act

(B) National Disaster Managing
Amendment

\AC) National Disaster Maﬁagement
Authority G5 E
(D) Neurological Disorder y%
Management Authority [E:5%
(E) Not attempted
25. is the 1* excavated site of
‘Hakra Culture’ in Haryana.
(A) Kalibangan
(B) Mitathal
(C) Rakhigarhi
(D) Kunal

(E) Not attempted

CG - CGL24

22. HEETY F A Dfd B TRd AR
% fore sl @ gro 2013 W 7= A
1 I T am | FE S 2
(A) ot gt A

& E»(B] AT forerg

EI:?E {C) HATTIH dren
DY TREA Beh &
(E) ITwanfia

23, __ 3Efedt At gl H

T ehdl & Afe, AT & SHI AL %
aftEen 3¢t wyfa wm $ 3R 3\ H:
3R I=YT e
(A) in

(C) is

(E)

(B) not in
(D) is not

24. ‘NDMA’ o forega &9 2
() = feame Femie uwe
(B) e Teameet S wisie
ey e feamer faeme e

(D) =etfreret femamdt e aranfife
(E) 3Tsrnfaa

25. TRATN BT BIHT TP

treaT-aéﬁawa%l
(A) HTefism
(B) Hamre
(C) Tl
AD) T

(E) 3Twamd
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26. Consider the following statements
and choose the right option given
below.

1. Total cost per unit of output is
called Average cost.

2. Total revenue per unit of output
is called Average revenue.

(A)
(B) Only the statement 2 is correct

(C) Both the statements 1 and 2 are
incorrect

(D) Both the statements 1 and 2 are
correct

(E) Not attempted

Only the statement 1 is correct

27. Rohan ranks seventh from the top
and twenty sixth from the bottom in
a class. How many students are there
in the class ?
(A) 31
(B) 32
(C) 33
(D) 34 CHZA]
(E) Not attempted O
28. The iron ore known as black ore
(A) Limonite (B) Hematite
(C) Magnetite (D) Siderite
(E) Not attempted
29, If 31,2 = 1728, then 2 is equal to
(A) 6 (B) 4
(C) 3 (D) 2
(E) Not attempted

-8-

CG - CGL24

P S A
u FEl forereq G |

1. e 6 3o el @
i T et I 2 |

2. e it sf 3T Fol T
3fera TeTE el T @ |

(A) e FYF 1 52 8
(B) hael A 2 TE 2
(C) BHf e 1 3R 2 TTed &
@ﬂm(maﬁq‘im 1 3R 2 9 @
(i (E) 3rvATied
27. A TF FE # SR Y FAd LA T IR
H & wedied m w R | HE i e

BEE 7 j -
(A) 31 7464
7436
AB) 32 2
(C) 33
(D) 34
(E) 3Tvmiad
28. B 3T A e s ot Faa 2
(A) femmrge (B) &HeIsE
ucfﬂﬁzﬁz (D) et
(E) Imaiia
29. IR} 3127 = 1728 , &t 2 e
TR 7
(A) 6 (B) 4
(C) 3 (D) 2
(E) 3Tvarfaa
IR
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30. .is the design of a database. 30. UF TEg & ST 2

(A) Relational Database Management ferme Semm e faeed
System (A) Sa 2 ~

(B) Database Schema EfE (B)
(C) Control Flow Diagrams . (C) Fglel Tl ST
(D) Data Flow Diagrams 6722 (p) a1 =t SrEI™
(E) Not attempted (E) s

31. H,the ;’efﬁ?% angle of an isosceles 31. IR TH gqlamg PNt 1 & e i 70°
triangle is 70°, each base le i 3MYR S—
s 9 angle %sl'of 2, @ wh 10T H ﬂT:T 2 |
(A) 50° B) 550 "y’ i s
(©) 60° (D) 65° (C) 60° B) 657
(E) Not attempted (E) KSR RIIEG

32. Qhoose the missing term out of 32. ¢ M IH &S ’j@c"‘ll & for fou
given alternatives for the given alpha e foehedl B ¥ g9 98 T |

numerical series,

225, 7Y7, 14X9, 23W11, 34V13, ? 25, v, 1A, 28WLL, SFEAF

(A) 27U24 (A) 27U24
(B) 45U15 (B) 45U15
(C) 47U15 EI%EI L€) 47U15
(D) 45V14 O (D) 45V14
(E) Not attempted (E) IrsETad
33. In a certain code, the codes for 33. T %R ¥, HicH -1¥ fqg M T &
sentences given in Column - I are given FT HieH i feu mu &) WS g H
in Column - II. Each word has unique 5
code. Answer the questions based on et B &l ga; STER 9T & IW
these. e
Column -1 Column - II W™ -1 Fe| -1
1. keep quite good nice lasa da ka 1. keep quite good nice la sa da ka
2. good bad are not same na da ra pa me 2. good bad are not same na da rapame
3. nice days are good da la pale 3. nice days are good da la pa le

4. keep same days good kale na da
‘keep' &2 F U FE AT R ?

4. keep same days good ka le na da

What is the code for keep’? -
(A) le (B) ka (A) le ((B) ka keep ]
(C) da (D) na {C) da (D) na da ke
(E) Not attempted (E)

9. B
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34,

35.

36.

37.

A market consisting of more than one
(but few) sellers is called as

(A) Isoquant

(B) Monopoly

(C) Oligopoly

(D) None of the above
(E) Not attempted

Choose the odd pair of words.
(A) Painter : Gallery

(B) Actor : Stage

(C) Mason : Wall

(D) Farmer : Field

(E) Not attempted

The number of in a relation is

called the Cardinality of the relation.
(A) Attribute
(B) Tuple
(C) Domain
'AD) Degree
(E) Not attempted

The number of real roots of
32;2— TetT = 9 is

(A) O

(B) 2 =5z
€ 1 Opa]
(D) 4

(E) Not attempted

-10-

CcG - CGL24

34, UH D 3l (3 F) R 3 e

T AR P FT FEAd & 7
(A) 3TTgEIEHe
(B) THITUHR
- (C) Ut
(D) 390 H & g TEl
(E) v

35. Vi % fud g 1 =a |

36.

a7

wrﬁaw:ﬁaﬂ

(B) e : #9

_e) 7E : EEr

(D) forem @ =a
(E) 3rvanfia

fepedt gy o &) &1 I ey
6 FIFEITA a1 s 21

B

(C) smF

E%2E
(D) feuft Eﬁ:gﬁ_. :

(E) 3rsrafaa

317 = 9 3 Tl el Y T :
R ?

(A) 0

(B) 2

(€) 1

(D) 4

(E) 3rvamiyq
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38.

39.

40.

41.

Four of the following three are alike in
p;n.ruculaf pattern and hence form a
group. Find the odd man out.

(A)
(B)

square
rhombus
(C) triangle
(D)
(E)

rectangle

Not attempted

A train of 320 meters length, is running
at a speed of 72 km/h. How much time
will it take to cross a pole ?

(A) 20 seconds
(B) 16 seconds
(C) 12 seconds
(D) 24 seconds
(E) Not attempted

If PAINT is coded as 74128 and
EXCEL is coded as 93596, then how
would you encode ACCEPT ?

(A) 455975

(B) 455976

(C) 455977

(D) 455978

(E) Not attempted

To which country did the 14* century
traveller Ibn Battuta belong ?
(A) Arab

(B) Africa

(C) China
(D) Mangolia

7~ N

(E) Not attemptef?ﬂ’%;_ s',

4 '
iy A

S11-

CG - CGL24

frferfiga =mi § 4 = fadt @ af |
% A B 3 39w U TR A9 2
wayn fim wifeu)

(A) =

(B) HHEEY

m(elﬁ"ﬁ

D
s
. (E) Frofea

39. 320%@@@@72%1@@
1fq § =1 @ 2 | Th @ F U HE T 3
fopeT HHE T 7 ek

; 3y 5 -

(A) 20 EHS H

AB) 16 THS

(C) 12 HH

(D) 24 TS

(E) 3T

38.

afe PAINT 1 74128 31 EXCEL %l
93596 % &9 § Hifed & T &, & 3
ACCEPT &1 8 #ifed &1 ?

(A) 455975
(B) 455976
(C) 455977
_iP) 455978

(E) FSETTEd
41, JFiTAFTA S @ WAL ?
(A) =
B 3ThTRT
() ¥H
(D) HIferT
(E) 3ramféd

40.
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42. Where is the Rourkela Steel Plant
located ?

(A) Chhattisgarh
(B) Odisha

(C) Madhya Pradesh
(D) Uttar Pradesh
(E) Not attempted

43. Which of the following Gas is
responsible for Bhopal Gas Tragedy ?

(A) Methyl Alcohol

(B) Helium LE] l'El
T

(C) Neon @’%_

(D) Methyl Isocyanate

(E) Not attempted

44. In a class of 42 students Nutan’s rank
is 22 from bottom. What is his rank
from top ?

(A) 24
a5z (B) 22
e (C) 23
5%
(D) 21
(E) Not attempted

45. Which of the following is a low grade
brown coal ?

(A) Bituminous

(B) Lignite -~
(C) Anthracite

(D) Hematite N W
(E) Not attempted

UAr — W

42. TITH W wiz Fa a2 7
(A) BEfETE
B 3feam
(C) AETIEH
(D) ITIET
(E) 3Tt

43. frefefas & & F9-d g e 1@ T
¥ for fordrem 2 7
(A) framser srepiee
(B) Eiferam
() =t
D) fremser smeamETse
(E) HAvafaa

44, 42 fqenfiEi 61 v wam H 69l EH
I 7 2291 2| Ifid § IoH =HHFE 7
(A) 24
(B) 22
(C) 23 2

l=1D) 21
(E) 3T

4s. frfefen § & F-ar fie 3of 1 .
HII 2 7

(a) fagfima
i frrmmse
(C) TrHTse
(D) ¥HeTge
(E) Twafia

-12-
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46.

47.

48.

In a certain code, Kit Mit Fit’ means

: y ‘Zit Rit Kit' means
Laborious Is Dangerous’ and sSit Fit
Rit" means

‘1 Am Laborious’

- . ‘Dangerous Extremely
Painful’ then in that language what is
code for ‘Is’ ?

(A) Kit
(B) Zit
(C) Rit
(=]
(D) Data inadequate o

(E) Not attempted

If e and P are the roots of x? — ax + b? = 0,
then o? + B?is equal to

(A) a? — 2b?

(B) 2a? - b?

(C) a? - b?

(D) a? + b?

(E) Not attempted

The population of a city decreased
from 25,000 to 24,500. Find the
percentage decrease.

(A) 2.5%

(B) 5%

(C) 2%

(D) 3%

(E) Not attempted

Which of the following poet wrote the

book ‘Akbar Nama’ ?
(A) Noor Jahan f
(B) Jahangir 4
o
(C) Abul Fazl . .-
0 "4

(D) Mehrunnisa
(E) Not attempted

-

I

46.

K ol

417.

CG - CGL24

uh fif=ra e |, kit Mit Fit' F1 374
‘I Am Laborious’, &, ‘Zit Rit Kit' #1374
~Taborious Is Daf:lgerous' 8 3N ‘SitFit
Rit" =l wod ‘Dangerous Extremely
Painful'%. A 39 wer o ‘13’55 Jﬁ-"—l’“ CIES
R 7
(A) Kit
(_B) Zit
(C) Rit
(D) =21 ATATA
(E) 3Ts=Tfad

uﬁaﬁ(ﬁ,x’—ax+b2=0%ﬁ‘f¢l§ﬁ
02 + [ T AU B

(A) a?-2b?

(B) 2a? - b?

(€.ai=Db’

(D) a? + b?

(E)

48. TS YR I FAGEAT 25,000 H TEH

-13-

24,500 & T | S ) T AT |
(A) 2.5% 257 of
(B) 5% =

€) 2%

49, fyeifefaa § & fog T 3 R T

W%ﬁft?ﬁ?
(A) T

J'-E, g (B) ST

(¥ Scanned with OKEN Scanner
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50.

S1.

S52.

53.

Choose the pair in which the words
bear the same relationship to each

other as the words of the given pair
bear.

Energy : Joule

(A) Axe : Grind

(B) Ammeter : Current
(C) Power : Ampere
(D) Resistance : Ohm
(E) Not attempted

The Slide Rule was invented by
(A) French Philosopher

(B) William Oughtred oL 70!

(C) Napier Bone’s ®
(D) Gottfried Leibniz

(E) Not attempted

Lakshman went 15 km to the West
from his house, then turned left and
walked 20 km. He then turned East
and walked 25 km and finally turning
left covered 20 km. How far is he now
from his house ?
(A) 15 km

(B) 20 km

(C) 25 km

(D) 10 km

(E) Not attempted _
The mixture of s called
water gas. R

(A) CO and H,O0 (B) co'!and H,0
(C) CO,and H, (D) CO and H,
(E) Not attempted

EEY

cG - CGL24

50. 3 qm @ w5 Hifao fed 7= UF o8

} o A wey waa # o e Ry ™A™
& e W@ # |

St :

(A) Foars! : dgAT

(B) 3mfiet ; |

(C) wife : wrfta
\p) gfaay ; 31w

(E) Avanaa

51. WREEAFI AfasHR @
Topa a am)

(A) W gt
(B) faferam srige
A(C) e =T

(D) Tiehrs efafs
(E) 3Tvafaa

52. TEAV H9A W # 15 feft afim 1 3w
T, fR A gqer 3R 20 fEdt 5o | fw
T8 & 1 AR g1 3R 25 i gen 3k
Fd # & gz 20 fordt 6 g @@ A
9 g I W fHaA g R 7

(A) 15 T -
(B) 20 fHr D}a
(C) 25 Tt =
L) 10 ot
(E) 3rsanfa
53. % foom oot e avmeran 2

(&) COSMH,0 (B) Co, 3 H,0

I%(C) CO, 3 H, uzj-”..co;:,fkﬂ2
(E) Zwanfaq

(¥ scanned with OKEN Scanner
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55.

56.

57.

wrrT v ety wmver

In which of the following State
‘Kanha National Park’ is situated ?
(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Bihar

(D) Kerala

(E) Not attempted

How many members of the Rajya Sabha
can be nominated by the President of
India ?

(A) 15 members
(B) 12 members
(C) 26 members
(D) 2 members

ERE
ravdal
E%@_

The point on the supply curve at
which a firm earns normal profit is

called as
(A) Shutdown point

(E) Not attempted

(B) Break even point
(C) Transition point
(D) None.of the above
(E) Not attempted

In order to facilitate the use of Indian
languages on computers, a common
standard for coding Indian scripts
called was developed in

India during mid 1980s.
(A) ISCII

_{B) INSCII

(C) INCII
(D) ANSI "
(E) Not attempted

-15-

—

T rwmr g e ey

CG - CGL24

s4. Frefafaa i @ fam o d w2 T
s fRm R 7
(A) ITTIEH
(c) famm
(D) T
(E) 3rwarfea

§5. T % T g Al o fohe wee
1 T s a2 7
(A) 15 ®eH
AB) 12 TE=
(C) 26 HT&=
(D) 2 He&X
(E) 3vaTEa

56. [ T W a7 fag frm = oF B qEE

AT AfAq Ha1 2, I T FEd & 7
M) wregr3A fag

(B) 3 34 fag
(C) T fag
(D) I9T | & HI3 TA1
(E) rwgmiad

57. FX T WA WA F I94m Fi g
% foru, a4 1980 % w1 29 § WA

fofrat % fau v amr= g Fifen
frrfmfim @ =z s am

(A) FTEUEE TS
(B) HTuuHHiamEams
% (C) FTSTAER TS TE
~ (D) UUAUHETE
(E) 3rvarfad
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59.

60.

61.

62.

Accountant General (Accounts and
Entitlements), Haryana functions
under the

(A) Department of Expenditure
Government of India

(B) Reserve Bank of India

(C) Comptroller and Auditor General
of India

(D) None of the above
(E) Not attempted

In glycolysis process, glucose undergoes

partial oxidation to form
molecules of pyruvic acid.

(A) one (B) three
(C) two (D) four O7AD)
(E) Not attempted OpN

To which quadrant does the point
(1, —2) belong ?

(A) 1 (B) I

(C) I (D) IV

(E) Not attempted

In third generation, keyboards and
were used instead of punched
cards and printouts.

(A) Scanner

(B) Monitors

‘AC) Memory card

(D) Modem

(E) Not attempted

What is the approximate playing time

of the full version of the National
Anthem of India ?

(A) 40 seconds (B) 1/minute
(C) 39 seconds (D) 52 seconds
(E) Not attempted

CG — Cunar

58, wErrErER (S vd wRA) , B
3efr el e B 7
(A) WA TR %1 oA fadT
(B) wreta frard o
'(€) T % i vd HETE@THIaE
(D) Ira # B3 A
(E) 3rsrfer

59. mma,ww
m%__mﬁ?ﬁ%%ﬁ:ﬁm
IT=fa B 2l
(A) T (B) @

we) @ (D) =R
(E)

60. ﬁ%(l’_g]ﬁ;\qagahﬁﬁfﬁﬂt?
(A) I (B) Il =

() I \upJ IV
(E) Jwanfaa

61. gt g § 9 HIS AN fieaTee & =N
Wehl-aE A w1 wEm e
Bl
(A) THT
(B) Hifed

_AC) HH FTE

g () T

AL (E) Twaraa

62. A % TZTH & [ HEHUT 1 a0 5
i fha B A R 7
(A) 40 & (B) 1ﬁl|=|z*:
(C) 39 H&e 4B 52 ke
(E) 3rwanfaa
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63.

65.

i

In the context of macroeconomics,
Phillips Curve is a relationship
between the rate of

(A) Demand and Supply

(B) Inflation and Unemployment
(C) Unemployment and Supply
(D) None of the above

(E) Not attempted

The ‘Hanging Garden of Babylonia’
was built by

(A) Darius

(B) Hammurabi

(C) Alexander

(D) Nebuchadnezzar

(E) Not attempted

What is the shape of warning sign

board ?
=5%2E
%EI @ :

(A) Square

(B) Circular

(C) Triangular

(D) Rectangular

(E) Not attempted

When do we celebrate ‘World Water
Day’ ?

(A) January 22 (B) February 22
(C) March 22 (D) April 22

(E) Not attempted

Which Article provides for the.l':bfﬁcg
of the Election Commission of India ?
(A) Article 326  (B) Article 368

(C) Article 324 (D) Article 328

(E) Not attexpppgs_li}_':" % __.:)

1=

LRt LR LR

= aemape ¢ et g snens st

CG - CGL24
6a. imrgEttan & deol i, fefera &
1 2t % ot 1 qAT 2 |

LAy i 3t mfd

B) ggrehifa 3 st

(C) e 3R FAmafe

(D) IT | § H3 TH

(E) 3IwTd

64. At @1 &fm mEa feees g s

T 7

() SfEE
(B) T
(C) HAFAS

OHTAD D))

555 (E) TwETa

65. ST Hha A1S H B T2 7
(A) TTHR
LAB) T
(C) Frepmfra
(D) HFAHR
(E) ZsEnéd

66. =9 g Ja feaw FA T 2 7
(A) 22 SHal (B) 22 wEd
ey 22w (D) 22 3=

()

67. Tora 3=de § WA % 9919 EM F
FHHATAT 1 IG9H B 7 |
LA) 332 326 (B) IS 368 ~
(C) =92 324 (D) = 328
(E) so@Ea
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68.

69.

70.

e

Pointing to a man in photograph, a
man said to a woman, ‘His mother is
the only daughter of your father’. How
is the woman related to the man in the
photograph ?

(A) Sister
(C) Wife
(E) Not attempted

(B) Mother
(D) Daughter

Which of the following is based on
fifth generation computing device ?

(A) Vacuum tubes

(B) Integrated Circuit (IC)
(C) Transistors

(D) Artificial Intelligence (Al)
(E) Not attempted

The change in the optimal quantity
of a good when the purchasing power
changes consequent upon a change in

the price of the good is called
(A) Laws of Demand %
[ 55

(B) Income Effect

(C) Long Run

(D) None of the above
(E) Not attempted
What term was used by the Marathas
to refer to the 25% of land revenue

claimed by the Zamindar in the
Deccan ?

(A) Jizya o1
(B) Zarib

(C) Sardeshmukhi

(D) Chauth

(E) Not attempted

UAT ™ W arss v

1 w

Wﬂmmﬁwmmm R

68.
el % v wfeen & a1, * IR A R
foren ) st 4t 2 0 | A I
ATt & o HEY A1 7
(A) =& (B) >
(C) Tt (D)aafdg
(E) 3rvarfaa

69. T A FrA-m qrEd Nigt F FALT
fearzg ot anwnfa 2 7
(A) 9FH STH

B (B) S8 wfbe (e
[ (C) gt -

\,fn/aﬂﬁﬁsmaﬂ%ﬁammﬂﬁ) !
(E) 37watEa

70. @ fFeft g it Fa § gREdd 24 +
yfTREEY A ifE H gREdd 2T 2, ar
&g I F2aH AT § YREdd Bl 1 HEd
i 3= 7
(A) =TT 1 FrEm

\_B] 3™ 1 991"

(C) & rafy

(D) 39T 5 & H12 T8
(E) FSfEa

71. WS g g9 | wHfier gRT grET e 9w
T 4fi T F 25% 1 Heffa 0
% for P 2 1 st Fe e 7 O
(A) S
(B) itr=
(C) HeImEh

) =y
(E) 3warfag
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72.

73.

s s

i~ LR LR

The Coriolis force is caused by the
(A) Rotation of the earth

(B) Revolution of the earth

(C) Inclination of the earth

(D) Both (A) and (B)

(E) Not attempted

Neelu bought 150 dozens of pencils at
¥ 20 a dozen. He sold them at T 2.5 per
pencil. Find the profit or loss percent.

(A) 40% (B) 45%

(C) 35% (D) 50%

(E) Not attempted

In Python, a comment starts with
(A) # (B) ##

(C) % (D) @

(E) Not attempted

Choose the missing term out of given
alternatives for the series.

4, 8, 16, 32, 64, ?, 256

(A) 128

(B) 98

(C) 86

(D) 106

(E) Not attempted

Which image is on the back of 'If
Rs. 20 notes of Indian currency note
(New) Series ?

(A) Ellora Caves

(B) Stone chariot Hampi f
(C) Rani Ki Vav

(D) None of the ahpvg!‘:f_

(E) Not attempted ©
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TN g e v ———— ¥

CG - CGL24

wa. i ae faaen HRO A 8 7
(A) gt 1 oo
UB) Tt 1 afeReT
(C) gt &1 FH
(D) (A) 3 (B) ZFT
(E) Frsanféa

ﬂqﬁizowﬁﬂqﬁaﬁusoaﬁ /

73.
i @t | TR IR T2 s ke A 2
TH &A= | =y a1z wfaa wma A
(A) 40% (B) 45% o
(C) 35% (D) 50% ] b
(B) ST s L@

74, A, wHROOR _ HIE

2t 21
(A) # (B) ##

BRRE (C) % (D) @

@446 (E)

75. FE 4, 8, 16, 32, 64, 2, 256 % feT
feu T fampedi # ® 9@ 9g 9MT |
(LAA] 128
(B) 98
(C) 86
(D) 106
(E) 3rwartad

76. A qE1 (FHT) (TE) HHS 6 20 79 5
T FdB FR-H B R ?
(&) T A T
(B) T 1 T BFT -
(C) TR H @ x
(D) 390 0 H H1 A&
(E) 3Twarfaa
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78.

79‘

80.

India’s first Aero Sports Centre was
opened in which place of Haryana ?

(A) Manesar
(B) Narwana
(C) Loharu

(D) Narnaul

(E) Not attempted

What is the value of

(a+b)® + (a-b)+ 6a(a? - b?) ?
(A) 6a* (B) 8a®
(C) 10a’ (D) 12a°

(E) Not attempted

What was the Sex ratio of India
according to 2011 Census ?

(A) 940
(B) 943
(C) 950
(D) 972

(E) Not attempted

This city of Haryana is called as nano
city

(A) Jhajjar G e
(B) Palwal %
(C) Gurugram

(D) Panchkula

(E) Not attempted

CG - CGL24

fopm o T TTfod fepam T 7

78. (a+b)® + (a— b)® + 6a(a? — b?) I HH

R 7
(A) 6a° (B) 8a®

(C) 10a® (D) 12a°

(E) HA9ATTEd

79. 2011 F VAT F AR FRA HI
o &= em ?
$ (A) 940
= E\,LB]“ 943
(C) 950
(D) 972
(E) 3rvanfaa

80. #fwmm 1 wEw Ay Fwew R
(A) T
(B) 9eTaet
(C) TEa™H

AD) T
(E) 3rvanfaa
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English Language

Direction Q. No. 81 and 82 : Fill in the

blanks by choosing the right option from
the four alternatives given.

81. The picture is the wall.
(A) in (B) under
LI€] on (D) at
(E) Not attempted
82. There is a bed my room.
A in (B) on
(C) under (D) over

(E) Notattempted

83. Choose the right option to form a

meaningful sentence.

in / we / of / science / the age / live

(A) We in the age of science live.

(B) We live the age of science in.

(C) The age of science in we live.
) We live in the age of science.

(E) Not attempted

84. Choose the word which is nearest in
meaning (synonym) to the given word.

Foe =[]

L&) Enemy %{
(B) Foolishness E44E
e4C) Friend

(D) Fearless
(E) Not attempted

Choose the right option to fill in
the blank with appropriate active or
passive verb forms.

Sam the car. {

(A) is repaired » S

(B) has been repaired x
\4ef" repaired i

(D) was being repaired
== L
(E) Not attemgfﬁd:;,_

86. Identify the error and choose the

right option from the four alternatives

given below :

I am here for teach you English.

(A) I am here too teach you English.

(B) I am here at teach you English.
C) I am here to teach you English.

(D) T am here in teach you English.

(E) Not attempted

87. Choose the opposite word (antonym)
to the given word.

Kot E Handsome
(A) Pretty
BER (o) uely
(E) Not attempted

(B) Cute
(D) Attractive

88. Choose the correct spelling of the given
word.
Vacabulary
A Vocabulary (B) Vecabulary

(C) Vocabuelary
(E) Not attempted

(D) Vacabulery

@. Choose the correct meaning of the
following idioms and expressions.
A man of letters.
(A) a hidden enemy ~

L4B) a scholar
(C) a,;useless person ,
(D) a person in uncomfortable situation
(E) Not attempted

Choose the correct indirect form of
the given sentence.
l She said “I have done my work”.
(A) She said that [ had done my work.
(B) She said that she has done my
_ work.
(€) She said that I had done her work.
(D) She said that she had done her
work.
(E) Not attempted

21
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fe=h W
O1. 3 v faeh frive safe, aeg, | 96, e F A FE AR | R Foham
woft & Jm w1 A A E, 38 g (- waa formatl J grar 2
g HeEd € | LXF (A) aduTRIEAA
EEYE il
UM FfFEES (B) Sife K GEasic! )
(C) MFI=%, | (D) ¥ & ¢ T (C) WlrsTaahTer
(E) snmi (D) 3 & g AR
2R wmiwmd
AT i 97. ‘il mw%mmﬂ__%
© Frgmfes (D) she (A) 3T (B) g
(E) v (ef @ (D) ™
93. 3V T W W 3G 7w A (E) SA9aTHa
R 1 3 R | 98. TEYATaH WA ¥ fhad U A # 7
(A) I-IE.IaIaEi; - (B) :ﬂﬁﬁlﬂaﬁiﬁg (A) a \__{BT?n:’
(C) §99a=H , (D) SF x (©) =R D) v
=) (E) 79t

4. T a8, T s i
L PSR

AR (B) g
(C) Tevmg (D) T&TE
(E) FAwamféa

9. ‘T, A, AU w ;F\eaEtma
S HEd € |
(A) w3t ugf:miﬁ:q\/
(C) et (D) Tifdtas o
(E) FHyanfaa %{

E#E

99. T I el faem wee 2

(SN (B) &
(C) T By S=hT9
(E) 3wanfya
100. ﬂ,%m,%m,m%mam
i I F 3aid 9 F |
\4a T (B) =
() i (D) Eay
(E) 3rwanfaa
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